6x 7= L x 2= 12 x 8 =
8 x = 56 3 x = 24 L x = 32
54 : 6=__ 2L + 4 = 20 + 5 =

Find half .of these numhers

3625 + 2837 =
9274 - 2836 =

Nearest 10 Nearest 100 Nearest 1000
2742
9327
L632

Quick Start

6 x 3=____ b x 9= 7x 8=
8 x = 24 3 x = |5 b x = 24
18 + 6 = 16 + 4 = 35 : 5=
Find half of these numbers
=____ 18=____ 66 =
80 = 36 =_____ 58 =

3874 + 1487 =
4623 - 1947 =

Nearest 10 Nearest 100 Nearest 1000

3947

4729

2938




Adding and Subtracting
3827 + 3329 =
7362 - 3874 =

Rounding

Nearest 10

Nearest 100

Nearest 1000

3827

8428

3802

6x Il=__

Adding and Subtracting
7362+ 24917 =
5427 - 2984 =

Rounding

Nearest 10

Nearest 100

Nearest 1000

2987

3604

7028




6x | = L x |12 = 8x 8=
8x =172 3 x = 27 L x = 8
24 + 6 = 4O + 4 = 4O + 5=

Adding and Subtracting
3842 + 2037 =
3857 - 844 =

Rounding

Nearest 10 Nearest 100 Nearest 1000

375

3853

L622




